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The following table presents the findings of a survey into how people travel to work :

Number of People Travelling to Work by
Cycle Car Bus Walk
72 18 35 33

Note : (a) 1 in 8 of the people who cycled to work were found to be over 65 years of age.
(b) 1 in 3 of the Cyclists stated that they travelled to work by bus on rainy days.
Based on the above, answer the question :
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How many people cyeled to work on a rainy day ?
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The following table presents the findings of a survey into how people travel to work :

Number of People Travelling to Work by
Cyele Car Bus Walk
72 18 35 33

Note : (a) 1 in 8 of the people who cycled to work were found to be over 65 years of age.
(b) 1 in 3 of the Cyclists stated that they travelled to work by bus on rainy days.
Based on the above, answer the question :
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How many respondents indicated that they cycled to work and were over 65 years of age ?
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The following table presents the findings of a survey into how people travel to work :

Number of People Travelling to Work by
Cyele Car Bus Walk
72 18 35 55

Note : (a) 1 in 8 of the people who cycled to work were found to be over 65 years of age.
(b) 1 in 3 of the Cyclists stated that they travelled to work by bus on rainy days.
Based on the above, answer the question :
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Which of the following statements is true ?

. Slightly fewer than twice as many people indicated that they travelled to work by bus than by car.
. Slightly more than twice as many people indicated that they travelled to work by bus than by car.
. Slightly more people indicated that they travelled to work by bus than by car.

. Slightly fewer people indicated that they travelled to work by car than by bus.
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The following table presents the findings of a survey into how people travel to work :

Number of People Travelling to Work by
Cyele Car Bus Walk
72 18 35 55

Note : (a) 1 in 8 of the people who cycled to work were found to be over 65 years of age.
(b) 1 in 3 of the Cyclists stated that they travelled to work by bus on rainy days.
Based on the above, answer the question :
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The sum of which modes of travelling to work represents half the number of responses represented in the
survey 7

A. Cycle and Car
B. Bus and Car

C. Walk and Bus
D. Walk and Cycle

Choose the correct answer from the options given below:

1. Aand B Only
2. Aand C Only
3.Band C Only
4. B and D Only

(1) 1

(2) 2

(3) 3

(4) 4
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The following table presents the findings of a survey into how people travel to work :

Number of People Travelling to Work by
Cycle Car Bus Walk
72 18 35 33

Note : (a) 1 in 8 of the people who cycled to work were found to be over 65 years of age.
(b) 1 in 3 of the Cyclists stated that they travelled to work by bus on rainy days.
Based on the above, answer the question :
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How many more people indicated that they cycled to work compared with those who travelled by either bus or
car ?
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3[Option ID=27919]
4[Option ID=27920]
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Given below are two statements :

Statement [ : Learner centerd approach is centerd on teacher needs.
Statement II : Learner centerd approach is centerd on cooperative determination of subject matter.
In the light of the above statements, choose the most appropriate answer from the option given below :

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1 1
) 2
3) 3
(4) 4
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Which of the following is a technique to provide right kind of support in right amount at right time to increase
child's competence ?

1. Scaffolding

2. Assistance

3. Accommodation
4. Schemas

(4) 4
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1[Option ID=27925] Question Description : general_paper_genarel paper_set 19_english_q7
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SWAYAM PRABHA is an education learning platform initiated by . that is available 24 = 7 through 34
DTH channels.

1. Ministry of Human Resource and Development (Now Ministry of Education)
2. University Grants Commission (UGC)

3. Consortium for Educational Communication (CEC)

4. All India Council of Technical Education (AICTE)

(1) 1
(2) 2
(3) 3
(4) 4
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A learner combines her'his previous schemas or modifies them as per new experiences. The process of
combining/modifying existing schemas and to arrive at new schemas is known as

1. Accommodation
2. Assimilation
3. Adaptation
4. Equilibration
(1)1
2) 2
3) 3
(4) 4
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Which of the following curriculum development models come under Technical-Scientific Model ?

1. Open Classroom Model

2. Taba's Model

3. Weinstein and Fantini Model

4. Roger's Model of Interpersonal Relations
(1) 1
2) 2
3) 3
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Survey research is one of the key methods in

1. Physics

2. History

3. Sociology

4. Hermeneutics
(1)1

(2) 2

(3) 3

(4) 4
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Methods of social research are directly linked to different visions of

. Social reality

. Laboratory experiments
. Simulations

. Virtual reality

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=27945] Question Description : general_paper_genarel paper_set 19_english_q12
2[Option ID=27946]




3[Option ID=27947]
4[Option ID=27948]
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Grand theories of social sciences operate at a

1. Lower level

2. Simplistic level

3. Categorical level

4. Higher level of abstraction
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2[Option ID=27950]
3[Option ID=27951]
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Which of the following are considered major types of qualitative research questions ?

A. Non-purposive

. Causes and consequences
. Predictive

. Evaluative

. Descriptive

mgnw

1. A Band Conly
2. A, CandD only
3.A.DandE only
4,B,C.Dand E only
(1) 1
(2) 2
(3) 3
(4) 4
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2[Option ID=27954]




3[Option ID=27955]
4[Option ID=27956]
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Given below are two statements :

Statement [ : Time and cost are not relevant in determining the sample size.

Statement II : Unit non-response and item non-response do not matter in deciding the sampling error.
In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II 1s false.
4. Statement I is false but Statement II is true.

1)1
2) 2
(3) 3
(4) 4
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1[Option ID=27957] Question Description : general_paper_genarel paper_set 19_english_q15
2[Option ID=27958]
3[Option ID=27959]
4[Option ID=27960]
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The science of studying the feedback systems in humans, animals and machines is described as

1. Feedback science
2. Experience study
3. Message Hermeneutics
4, Cybernetics
1)1
2) 2
3) 3
4) 4
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2[Option ID=27962]
3[Option ID=27963]
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De Saussure labelled language as a

. Technical code
. Profusion of signs
3. Verbalism
4. Macro generaliser
1y 1
(2) 2
3) 3
(4) 4
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1[Option ID=27965] Question Description : general_paper_genarel paper_set 19_english_q17
2[Option ID=27966]
3[Option ID=27967]
4[Option ID=27968]
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Which of the following are the criteria for public service communication ?

A. Personal bias

B. Ideological slant

C. Accuracy

D. Comprehensiveness

E. Separation of opinion and facts

Choose the correct answer from the options given below:

1. A B, C Only
2.B.C.D Only
3. C.D.E Only
4. A, D.E Only

(1)1

) 2

3) 3

(4) 4
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2[Option ID=27970]
3[Option ID=27971]
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Sl. No.19
QBID:19201019

According to some experts like Marshal McLuhan, the following are considered hot media :

A. Telephone

B. Television

C. Radio

D. Cinema

E. Print
Choose the correct answer from the options given below:
A, B, COnly
.B. C,D Only

. C, D, E Only
A, C,E Only

:l;.l_ul..;ll—t

(1) 1
(2) 2
(3) 3
(4) 4
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1.Pad A, B, C
2. %ad B, C,D
3. %dAC,D,E
4. PdT A, C.E
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=27973] Question Description : general_paper_genarel paper_set 19_english_q19
2[Option ID=27974]

3[Option ID=27975]
4[Option ID=27976]
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Given below are two statements :
Statement [ : Internet itself is a network and alse a model for Cyberspace relations.

Statement IT : Global interactive technologies, aided by the Internet, heralded the arrival of the 'second media
age' by the end of the twentieth century.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1 1

(2) 2

(3) 3

(4) 4
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1[Option ID=27977] Question Description : general_paper_genarel paper_set 19_english_q20
2[Option ID=27978]
3[Option ID=27979]
4[Option ID=27980]
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The monthly income of a person in the year 2020 was ¥ 65,000 and his monthly expenditure was ¥ 45,000, In
the year 2021 his monthly income increased by 15% and his monthly expenditure by 7%. What is the
percentage increase in his savings ?

il
)
(=]

.28%
1) 1
) 2
3) 3
) 4
ay 2020 ¥ fordll afda 1 WS 3 T 6500041 SR IHT TIYS g 45000 U7 | 99 2021 T FESH!
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1[Option ID=27981] Question Description : general_paper_genarel paper_set 19_english_q21
2[Option ID=27982]
3[Option ID=27983]
4[Option ID=27984]
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5/9 of a number is equal to twenty five percent of a second number. Second number is equal to 1/4 of a third
number. The value of the third number i1s 2960. How much is the 30% of the first number ?

. 9.99
L9909
. 899
.88.9
1)1
(2) 2
3) 3
(4) 4
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.9.99
.99.9
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1)1
(2) 2
3) 3
(4) 4
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2[Option ID=27986]
3[Option ID=27987]
4[Option ID=27988]

Sl. No.23
QBID:19201023

A man invested 1/3 of his retirement gratuity at 6% simple interest; 1/4 of his gratuity at 7% and the rest at 8%
simple interest. If his annual return on these investments is ¥ 7012.5, find the total amount of gratuity invested
by the man.

. 89,000
.%.99,000
.% 95,000
.%1,05,000
11

(2) 2

(3) 3

(4) 4
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. % 99000
. 95000
. % 105000
1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=27989] Question Description : general_paper_genarel paper_set 19_english_q23
2[Option ID=27990]
3[Option ID=27991]
4[Option ID=27992]
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If in a certain, Coding language, 'Cheater’ is coded as 'gjgevgt’. then how 'Preacher’ will be coded in that
language ?

'rtgeejot’

. 'gsibdify’
3. 'rtgbdjgt’
4. 'stgbdjgt’

1 1

(2) 2

3) 3

(4) 4

ﬁﬁﬁ@ﬂw UTYT H 'Cheater' BI ejgevet’ %Wﬁm ﬁﬂﬂw% ?ﬁ@ﬁ@%ﬁ "Preacher’
P UDR Heag g 2

ko =

. 'rtgeejet’
. 'gstbdifs’
. 'rtgbdjgt’
'stegbdjet’
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1) 1
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3) 3
(4) 4

1[Option ID=27993] Question Description : general_paper_genarel paper_set 19_english_q24
2[Option ID=27994]
3[Option ID=27995]
4[Option ID=27996]
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What number should replace question mark (?) in the series given below ?
7.10, 19, 46,127 2

e Tad bd
e
o |
)

.370
1)1
(2) 2
(3) 3
(4) 4

e <t TS 2gen H SH- S uyarad o (2) B ioifd sl 2
7,10, 19, 46, 127, 2

. 202
192
173
370

B S

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27997] Question Description : general_paper_genarel paper_set 19_english_q25
2[Option ID=27998]

3[Option ID=27999]
4[Option ID=28000]

Sl. No.26
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Which fallacy is committed in the following argument ?
"When I called you, you were neither in your class nor in the laboratory. Why are you avoiding me ?"

1. Circular argument
2. 'Red herring'
3. Complex question
4. Slippery slope

(1) 1

(2) 2

3) 3

4) 4

FafaRad g o o9 ao-a [Bar e
< Td YS! Gl al 319 A Al (9= el H 4, 7 81 319 par=nar 8 9 | 319 g3 i g9 3% 2

1. Thep YfI-aI
2. ¥ el
3. B9 Y db-aiy
4. frgeTgad gelH
1) 1
2) 2
3) 3
4) 4
1[Option ID=28001] Question Description : general_paper_genarel paper_set 19_english_q26
2[Option ID=28002]

3[Option ID=28003]
4[Option ID=28004]
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Which of the following statements are logically equivalent ?

A. Some animals are birds.

B. Some animals are not non-birds,

C. Some non-birds are not non-animals.
D. Some birds are animals.

Choose the correct answer from the options given below:

1.B and C Only
2.B,C.D Only
3.A Band D Only
4. A, Band C Only

(1)1

(2) 2

(3) 3

(4) 4

FrafafEd ¥ 9o oy dide U S 9ade 6 2

ATSIIUERET |

B. $F U R-U&T T € |

C. PO U RO 61 |
D. $B U 9% |

+ta feu U fasedl & ¥ 8! IR T 99 Hiforu :

1. $aaAB IR C
2. %adA B, C AR D
3.%ad A, B3ARD
4.FaAA,BIARC

1 1

) 2

3) 3

@) 4

1[Option ID=28005] Question Description : general_paper_genarel paper_set 19_english_q27
2[Option ID=28006]
3[Option ID=28007]
4[Option ID=28008]
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If the statement "no animals are fishes" is given as false, then which of the following statements can be
immediately inferred to be true ?

A, All fishes are animals.

B. Some animals are not fishes.
C. All animals are fishes.

D. Some animals are fishes.

Choose the correct answer from the options given below:

1.B and D Only
2.A, Cand D Only
3. Cand D Only




g Ty - “ig ol U ASel 981 o7 &I 7Tad & =9 1 391 771 3 Al Fafarad & 9 6T sy &
@ Tdd &9 4 Hel 8 P SEH (a1 ol Fobdl § ?

A mefmiog ¥ |
B. $® U HSRAI TR § |
c. o uyy Asfemi § |
D. $F U HBIAI & |

14 fau Tt fdeedl O 9§ 9l 3R &1 98- DI .

1.Had B 3R D
2. Fad A, C IARD
3.%ad C 3D
4. $adAD

1) 1

) 2

3) 3

(@) 4

1[Option ID=28009] Question Description : general_paper_genarel paper_set 19_english_q28
2[Option ID=28010]
3[Option ID=28011]
4[Option ID=28012]
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Which of the following propositions are contrary to each other ?

A, All fishes are mammals.

B. Some fishes are mammals.

C. No fishes are mammals.

D. Some fishes are not mammals.

Choose the correct answer from the options given below:

1.B and D Only
2. Aand C Only
3. Aand D Only
4. B and C Only

(1) 1

(2) 2

3) 3

(4) 4

frafeed & 9o @ vl (o-gm & fandd g

A it Tferg e € |
B. $© OOl WHIR § |
c. @Is i 7o TR AR § |
D. T HS e TRl FEi € |

14 fau e fdeedl o 9 9l 3R &1 98- DI .

1. %ad B 3R D
2. FaAAHRC
3. Pad A RD
4. FaAB AR C
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=28013] Question Description : general_paper_genarel paper_set 19_english_q29
2[Option ID=28014]

3[Option ID=28015]
4[Option ID=28016]

Sl. No.30
QBID:19201030




According to Nyaya (Classical Indian School of Logic) Which of the following argument involves the fallacy
of Anupsambhari (non-exclusive middle term) ?

. The hill has smoke because it has fire.

. Sound is eternal because it is audible.

. All things are non-eternal because they are knowable.
. Sound is eternal because it is produced.

1 1

@) 2

3) 3

(4) 4

Y (R R TR &1 [daR-WE) & S99R Faiaiad O ¥ 69 giad o sraaer! (k-
Toifqe® AWad] 9g) dw-aN Jifafd g 2

 TETS1 IR Y3if & i1 a6l ST |

A YA e WP e 4T ¢ |

i IS IR-emya s i 3 AU © |
€3 WY d € 31 T8 SO I Il § |
1) 1

(2) 2

(3) 3

(@) 4

R

e W B2

1[Option ID=28017] Question Description : general_paper_genarel paper_set 19_english_q30
2[Option ID=28018]
3[Option ID=28019]
4[Option ID=28020]
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Consider the following MS-Excel spreadsheet in which the population column represents the city's population
in millions of people :

A B C D E F
1. City State Population Haryvana MP Up
2. Patiala Panjab 834
3. Sonipat Harvana 3.86
4. Noida Up 271
3. Indore MP 216
6. Mandi HP 1.49
7. Sagar MP 138
8. Panipat Harvana 139
9. Gwalior MP 124

Suppose the formula - IF($B2=D$1,5SA2.0) 1s entered into cell D2 and then the cell D2 is copied and pasted to
D2:F9. How many cells in the range D2:F9 contains 0 7

0

ol

12

o
-

(1) 1
(2) 2
(3) 3
(4) 4




Frafaied THEg- Tt d Wi IR [duR @i, R SHYwe & eiad oafdad] & [ferd= § Ig af
ST Wefid eRar g |

A B C D E F
1. [@gY 1o o] | BT A9 UeR SR Hed
2. [aicgrer [doE 834
3. [mHud gl 3.86
SiE] TR UcHl 271

FaR T UeT 216
B EOEC UGE | 149
TR R 138
OHgd [gREmn 139
[AIRR [ TR 124

L=y Nl E e e

T @I, E-IF (SB2=DS$ 1. $A2.0) I Ta1 D2 H Uay fovar &I1an § SR 5@ 18 D2 &l FHidt (wiafaft frar
STd1 & 3R D2:F9 § U a1 911a1 8 a D2:F9 &t ¥ H fha= S H 0 g1 2

0

b g

12

=
by

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=28021] Question Description : general_paper_genarel paper_set 19_english_q31
2[Option ID=28022]

3[Option ID=28023]
4[Option ID=28024]

Sl. No.32
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Which of the following statements about email security best describes email encryption ?

1. This is a self replicating program that can spread by email.

2. This disguises the content of email messages in order to protect sensitive information.

. This consists of sending numerous duplicate mails to the same email address.

. The email header iz changed so that the message appears to have come from someone else.
1) 1

(2) 2

3) 3

(4) 4

AfaRad T ¥ 19 A S50 YRET & aR H S0d SR (F11Y) BT 9aiad auid SRl g ?

1. 9% Us W-Hidoid U . ol 58 d gRI [a%gd 51 9Pl o |

2. UE HaaARITd I1 & TREU & Y SHd & Saxll 1 [A99aw] &1 SeHaS 4RU &R [ g |
3. 599 S S0T Ud &1 o gwitde (gY) T & Ui o 9fiffad § |

4. 309 TSR &1 URkafdd frar e & a1 Saw el R amar g wa Sin g |

11
) 2
(3) 3
(4) 4

S Y

1[Option ID=28025] Question Description : general_paper_genarel paper_set 19_english_q32
2[Option ID=28026]
3[Option ID=28027]
4[Option ID=28028]
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Given below are two statements about music files :

Statement [ : A music clip stored in MP3 format would take up more memory than the same clip stored in
WAV format.

Statement IT : Music files stored in MP3 format are of better quality than files stored in WAV format.
In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is false but Statement II is true.

(1) 1
(2) 2
(3) 3
(4) 4

FYA1: T 3 T (Bie) T 11 U Wilid fdad Seeg U df. I 1 ois1ia 3t faey &t g &
3Hfe/ed ORI |

DU I : T UL 3 §9 § HeId Fiiid Brged Seeg,Udl. 9 H HsIRd Bigal &i gl § §5R
TUIGATR® BIdl g |
SIRIFd HYU P ATl 1, A1d ST U faded] I I Tel SR &1 98 SIfoid :

B AR I EH 9 &

HYF 1 AR I EA] 3T B

DY 1 T B, AT PYT 11 A B
BT T, AT U 1 TR
1) 1

(2) 2

(3) 3

(4) 4

da Lo b =

1[Option ID=28029] Question Description : general_paper_genarel paper_set 19_english_q33
2[Option ID=28030]
3[Option ID=28031]
4[Option ID=28032]
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QBID:19201034

Which of the following statements are accurate ?

A, Web 2.0 is a simple static website without any interaction with its users,
B. Web 2.0 brings people closer together with information using machines.
C. Web 3.0 brings machines closer together using information.

Choose the correct answer from the options given below:

. A Only
. B Only
.B and C Only
.D only

B R B

(1) 1
) 2
(3) 3
(4) 4




FafaRad o U o oY= RS & 2

A. 9§ 2.0 30 IUGRTE Al & Ty a1 o<t siafdhar & ue R fRR dese © |
B. 39 2.0 ORI 1 IUUF PR Y1 gRI Afeqd] Bl U 1Y 3{Ed Hee anil @ |
C. 4 3.0 I BT ITURT FHR ORHI DI TP A1Y AP e ardi g

=t fau U fashedl & T gl IR BT 99 Hifolu :

1. Pad A
2. $ad B
3. HadB AR C
4.®aa D
(11
(2) 2
(3) 3
(4) 4

1[Option ID=28033] Question Description : general_paper_genarel paper_set 19_english_q34
2[Option ID=28034]
3[Option ID=28035]
4[Option ID=28036]
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Match List I with List IT

LISTI LISTII
(Output Device) (Description)
[Flat panel display that vses the light modulating
lproperties of liquid crystals.
[Flat panel displav that uses an array of light-emitting
diodes as pixels.
C. [LED screen |11 |Droplets of ink are propelled onto paper.

D. [Laser Printer 1TV E;:Ztrricall}-' charged powdered ink is transferred ontol

A |Inkjet printer | L

B. |[LCD screen 1L

Choose the correct answer from the options given below:

. A-IV, B-1, C-II, D-TII
. A-IV, B-II, C-I, D-III
3. A-IIL B-I, C-III, D-IV
4. AdIL B-I, C-II, D-IV

b =

1) 1
() 2
(3) 3
4) 4
el 19 1Y il 11 BT e Sifee
e T
I e U wegl (feaw) S
e o RS ' e ST
i |HEmE I e & Us™ A1ga- @isdas)
(RET SIE H5) ST &1 SUar aRar ¢ |
TUIE UAd UeRl, 9l [Uoied & 9 H
B |tad s wH 1L HeE 36 SISy & 3=l &7
UGN HAT § |
BT R W] & (95 (S10cey)
_ |ogga smaRa ) T3 S3gad
D. |eR ey s E@WWL@WﬁHﬁFﬁ%[
FafaRad fasedl O I 9! 3R &1 9849 DI -

1. A-IV, B-1, C-II, D-III
2. A-IV, B-II, C-1, D-TII
3. A-IL B-I, C-III, D-IV
4. AL B-I, C-II, D-IV

1

(2) 2

(3) 3




(4) 4

1[Option ID=28037] Question Description : general_paper_genarel paper_set 19_english_q35
2[Option ID=28038]
3[Option ID=28039]
4[Option ID=28040]

Sl. No.36
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Atmospheric haze iz mainly caused by 7

1. Ultra fine size particulate matters
2. Oxides of nitrogen and sulphur
3. Ozone
4. Carbon dioxide and Carbon monoxide
1)1
(2) 2
3) 3
4) 4

qgHS T Y BT TE PRUIBHE A G 2

1. R AR & fdfded g
SIS 3R R & SARIES

o]

LF¥)

. PIE SIS ATFISS 3R HIa- G9! HFIES
1
() 2
3) 3
(4) 4

e

1[Option ID=28041] Question Description : general_paper_genarel paper_set 19_english_q36
2[Option ID=28042]
3[Option ID=28043]
4[Option ID=28044]

Sl. No.37
QBID:19201037

Given below are two statements :

Statement [ : Nano scale metallic and bimetallic particles can efficiently remove common water pollutants
such as Poly Chlore Benzenes (PCB), Organo chlorine pesticides and halogenated organic solvents.

Statement II : Nano scale metallic and bimetallic particles cannot reduce heavy metals such as nickel, arsenic,
mercury ete.

In the light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I 1s correct but Statement I 1s incorrect.
. Statement I 1s incorrect but Statement I is correct.

1)1
(2) 2
(3) 3
(4) 4

PUA L : 11 Wd Uil SR [§-e1fede Hor diel FaRt a=i- (.3t ah), it daiki= Sleama! ok
A BIaF® [Aam®! o THR o TS| Bl SRS ¢7 3 gel 9Hd ¢ |

gi{?{n;ﬁ?ﬁ@ﬁ?ﬂﬁﬁﬁ?%ﬂlﬁamwﬁwm, HTE e, URT 3M1fg SR YRT e1sil &1 8l el abd
|
IRIFd FYHI & a1, A (4T U [dFHedl § I Jof 3R &1 947 DIl :

YT 3R 11 ST el €

CHYF 1 AR I EH Tad g

 FYT 1 el &, A &Y 11 7Ted B
. HYF 1 7Tdd 8, A= HYT 11 9el g
1) 1

() 2

(3) 3

| e

U ES )

b =

[ Y




(4) 4

1[Option ID=28045] Question Description : general_paper_genarel paper_set 19_english_q37
2[Option ID=28046]
3[Option ID=28047]
4[Option ID=28048]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The change in sea level at any coastal location depends on the sum of global, regional and local
factors.

Reason R : Therefore, the global mean sea level rise translates into an uniform rise in sea level around the
world.

In the light of the above statements, choose the most appropriate answer from the options given below.

.Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is NOT the correct explanation of A.

. A is correct but R is not correct

. A is not correct but R is correct

1)1

(2) 2

(3) 3

(4) 4

:ﬂﬁaﬁ"lmﬁnw% - TS HIUHUF (Assertion) A P ¥ T AR & Al GIRT 39D PRI (Reason) R &
*=UH:

gﬁwmm%aﬂu@mmwwﬁwﬁa‘cﬁm, & 14 RIFE R®! & I R MR o=l
|

da L b

mNU%R:sHTEm,%%HMH g da d dig, 999 fay & g TR 8 U 99 9ig & &9 8 FYidRd
BT |
JWRIed DYl P Al . -1 [SU T [dPhed] T I el 3R D1 994 Pl :

A JRR A ITE 3R R, AT Tol AT B

A JRR I JA €, AP R, A D! eI IR el 2
ATIE, OfrTR 3EA R
ATE S, AP RIARI

@1

2) 2

@) 3

() a

R

1[Option ID=28049] Question Description : general_paper_genarel paper_set 19_english_q38
2[Option ID=28050]
3[Option ID=28051]
4[Option ID=28052]
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Oxygen demanding wastes

1. Decrease the oxygen level in water.
2. Increase the oxygen level in water.
3. Do not change the oxygen level in water.
4. Increase the temperature of water.
(1) 1
@) 2
3) 3
(4) 4

et 9 AT 39y

1. o7 H 3NiioH-TR &I Uerd g

2. d H o TR Hl9eld &

3. W1 1 SeRiioi-%R &) ukaldd 78 & ©
4. 5 & dIHHE BT 981 ©




(2) 2

3) 3

(4) 4

1[Option ID=28053] Question Description : general_paper_genarel paper_set 19_english_q39
2[Option ID=28054]

3[Option ID=28055]
4[Option ID=28056]
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Match List I with List IT

; TE TS LISTII
(Sustainable Development (Goal)
Goal (SDG) number)
A |SDG 2 I |Sustamnable cities and communities
B |SDG 3 11 |Zero hunger
C. |SDG 6 I11 |Good health and well being
D._|SDG 11 IV |Clean water and Sanitation

Choose the correct answer from the options given below:

. AL, B-III, C-II, D-IV
. AL B-II, C-I, D-IV
. A-IL, B-III, C-IV, D-I
. A-II, B-III, C-1, D-IV
1) 1
(2) 2
(3) 3
(4) 4

el 13 1Y Yl 11 BT e Sifee

ba =

e IV

I
(Hﬂmﬁﬁgﬁ? g @R, o
HE)
A |TESisie I |dyRuig TR 3R gqaE
B. [T981 63 1L | 3= yEedl
N 111 | 3731 WY R ARG
D. | TqSt ol 11 V. | Y& 91 AR Waadl

Fafafad faeedi O I gl 3R &1 994 $ifor :

1. A-L, B-11I, C-I1, D-IV
2. AL, B-II, C-1, D-IV
3. A-IL, B-III, C-IV, D-I
4. A-I1, B-II1, C-I, D-IV
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=28057] Question Description : general_paper_genarel paper_set 19_english_q40
2[Option ID=28058]

3[Option ID=28059]
4[Option ID=28060]

Sl. No.41
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What is the full form of 'SPARC'?

1. Standard for Profession of Assessment and Research Communication
2. Scheme for Promotion of Academic and Research Collaboration
3. School for Promotion of Assessment and Right to commitment
4, Social Protection of Advancement and Relationship Complex
(1) 1
) 2
(3) 3
(4) 4




THY TR AL (SPARC) FT G A &1 § 2

1. 5SS BR WM 1P < IS wmﬁwﬁ
2. T PR YR % U shie Us Ryd SIaantH

3.Wtﬁﬁﬁtﬁrwwaiwwcqaﬂscgqamcuc

4. IS WICaRM 3T UsaigHc Us RRHIRY Siciay

1) 1

@ 2

3) 3

) 4

1[Option ID=28061] Question Description : general_paper_genarel paper_set 19_english_q41
2[Option ID=28062]
3[Option ID=28063]
4[Option ID=28064]

Sl. No.42
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According to NEP 2020, India will be promoted as a global study destination providing premium education at
affordable costs thereby helping to restore its role as

1. Economic power

2. Knowledge Economy

3. Vishwa Guru

4, Shiksha Guru

(1) 1

(2) 2

3) 3

4) 4

T3 g Hifd (T.8.0) 2020 & SFER YR T8 AFTd1 UR SHHGH gl e == adl U aiys
e Tide & =9 H Igad @He) grm, s 3w & =0 3Ot yftet
01T - o Herdr urd gl |

1[Option ID=28065] Question Description : general_paper_genarel paper_set 19_english_q42
2[Option ID=28066]
3[Option ID=28067]
4[Option ID=28068]

Sl. No.43
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What is the full form of NCIVE' ?

1. Non-Governmental course for the Initiation of Vocational Enhancement
2. National Committee for the Integration of Vocational Education

3. Non-Governmental Council for the Integration of Veterinary Education
4. National Commission for the Information of Veterinary Education

1)1
) 2
3) 3
(4) 4

TA.41.318 1.5 (NCIVE) &1 g0l &9 1 g 2
T E=d B8 BR g SRS 3P diehy—d teaa<

A HHE BR & U 3% dihRTd TP
LY C LN Ly — LY [a¥ (4]
AH-TTa-HCd BISRIT BR g U 3% 9 tH e

YT HIHYA BR § 3HIUEH 3% deRaR Tt

il ol

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=28069] Question Description : general_paper_genarel paper_set 19_english_q43
2[Option ID=28070]
3[Option ID=28071]
4[Option ID=28072]
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The Government of India created Department of Science and Technology in the year :

1.1990
2. 1985
3.1978
4.1971
(1) 1
(2) 2
(3) 3
(4) 4

URA PR - g a9 5 v vt faum & a1 1 2

. 1990

. 1985
3.1978
4. 1971

1)1

(2) 2

3) 3

(4) 4

b2 =

1[Option ID=28073] Question Description : general_paper_genarel paper_set 19_english_q44
2[Option ID=28074]
3[Option ID=28075]
4[Option ID=28076]

Sl. No.45
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The ancient system of education in India included education of which of the following ancient texts?

A Vedas

B. Brahmanas

C. Upanishads
D. Dharma sutras

Choose the most appropriate answer from the options given below:

1. Aand C Only
2.B and D Only
3.A, Cand D Only
4 A B.CandD

1)1

(2) 2

3) 3

4) 4

YRA B AT R1& gegld § Fafeiad 5 @ &= 3 = i o Rian i o 2

A.dq
B. sl
c. 3ufug

D. YR
i feu e famedl | 9§ Tgl 3R &1 90 Il ;

1.Pad A 3R C
2. HadAB AR D
3.%ad A, C R D
4.A,B.C3RD

1) 1

) 2

3) 3

@) 4

1[Option ID=28077] Question Description : general_paper_genarel paper_set 19_english_q45
2[Option ID=28078]




3[Option ID=28079]
4[Option ID=28080]

Sl. No.46
QBID:19201046 . .
Read the following passage and answer the question given below :

Around the age of 2, children have a sense of intention, at least of their own intentions. They will announce, "I
wanna peanut butter sandwich". As children develop a theory of mind, they also can understand that other
people have intentions of their own. Older pre-schoolers who get along well with their peers can separate
intentional from unintentional actions and react accordingly. For example, they will not get angry when
another child accidentally knocks over their block tower. But aggressive children have more trouble assessing
intention. They are likely to attack anyone who topples their tower, even accidently. As children mature, they
are more able to assess and consider the intentions of others,

With a developing theory of mind, children are increasingly able to understand that other people have different
feelings and experiences and therefore may have a different viewpoint or perspective. This perspective-taking
ability develops over time until it is quite sophisticated in adults. Being able to understand how others might
think and feel is important in fostering cooperation and moral development, reducing prejudice, resolving
contlicts, and encouraging positive social behaviours in general. Some coaching in perspective taking from the
teacher might help if children mistreat peers and the mistreatment is not part of a deeper emotional or
behavioural disorder.

fgfafad meiw o1 ufeu 3ik T fed M wy w1 SR o -

T S N 1 I T a=d] U ST P a1Y 11 8, I U-9-H1 9 G P19y Sl g | 3 Feal o,
“gl UHe e Hsfaer 9o | <Oi-=0f 9= & 19 & Risid 1 fdem siar s, d 98 N angr ved &
3 q & o 307 S B 99 d § | Mg $ 5% 95-85 a9 ol 30 YeuIfsal & SY Eid €,
RIed SR TR-ZUEAH Dl H Ve HR dGTHR Walhdl @ Tdhd © | SaIeR0l & (oY oid B1e gl gl
AT 31h &l CIaR &I YD1 &l 3, ol d 1T 81 gidl | T SAIhHD Fedl ] GHR b oG DI
TS I HETE Bl 13 T it 9 TR 50a IR I © Sl gHeaR] Sl 3% 2TaR &I 218 4d
© | o= SUI-oUl 43 §Id W1 §, d G8RI & Sl Bl 311U UIT Yood & IR JTR IR PGP &6 | HT P
Rrsia & [do™ & 1Y-a1Y o= gg S 3 96 Ta5 urd § a3 a0 &1 H1aA14 SR 3F4a SRl
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Children of Which of the following ages would generally have the best perspective taking ability 7

. 3 years

. 8 years

. 13 years
. 18 years
1) 1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question given below :

Around the age of 2, children have a sense of intention, at least of their own intentions. They will announce, "I
wanna peanut butter sandwich". As children develop a theory of mind. they also can understand that other
people have intentions of their own. Older pre-schoolers who get along well with their peers can separate
intentional from unintentional actions and react accordingly. For example, they will not get angry when
another child accidentally knocks over their block tower. But aggressive children have more trouble assessing
intention, They are likely to attack anyone who topples their tower, even accidently. As children mature, they
are more able to assess and consider the intentions of others.

With a developing theory of mind, children are increasingly able to understand that other people have different
feelings and experiences and therefore may have a different viewpoint or perspective. This perspective-taking
ability develops over time until it is quite sophisticated in adults. Being able to understand how others might
think and feel is important in fostering cooperation and moral development, reducing prejudice, resolving
contlicts, and encouraging positive social behaviours in general. Some coaching in perspective taking from the
teacher might help if children mistreat peers and the mistreatment is not part of a deeper emotional or
behavioural disorder.
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Given below are two statements :

Statement [ : Aggressive children can assess intention of others with ease.
Statement II : Different persons may have different view points.
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.
1)1
(2) 2
3) 3
(4) 4
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1. Y1 AR 11 EHI Tel &l
2. BYF 1 AR 11 SHI TTad g
3. HUT 1 TE! 8, A HYA 11 Ted & |
4. BYF17TAd &, Afh YU 11 el B
1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question given below :

Around the age of 2, children have a sense of intention, at least of their own intentions. They will announce, "I
wanna peanut butter sandwich". As children develop a theory of mind. they also can understand that other
people have intentions of their own. Older pre-schoolers who get along well with their peers can separate
intentional from unintentional actions and react accordingly. For example, they will not get angry when
another child accidentally knocks over their block tower. But aggressive children have more trouble assessing
intention, They are likely to attack anyone who topples their tower, even accidently. As children mature, they
are more able to assess and consider the intentions of others.

With a developing theory of mind, children are increasingly able to understand that other people have different
feelings and experiences and therefore may have a different viewpoint or perspective. This perspective-taking
ability develops over time until it is quite sophisticated in adults. Being able to understand how others might
think and feel is important in fostering cooperation and moral development, reducing prejudice, resolving
contlicts, and encouraging positive social behaviours in general. Some coaching in perspective taking from the
teacher might help if children mistreat peers and the mistreatment is not part of a deeper emotional or
behavioural disorder.

fgfafad meiw @1 ufeu sik e el M vy 1 SR o

UGl Iy b1 39 H &=l § 3 &1 d1Y BT 8, 3¢ $H-U-3H 39 AR ST gl e | d Hed o,
<5l UiHe gex Hsfae 91ty | <Oi-=0f 9= & 79 & Risid &1 (A sial 5. d 9 i ansr 9apd § i
30 ART & it 3 STG 1 P § | W-5pal & PO 95-88 &= 9l 3T Geuliedl & S 8ld 8,
A SR TR-ZUEAH Bl § e HR dGTHR Tdlshdl SR TPhd & | 3arevl & [0 oid Big gl =l
HARTA 370 sl CIaR &l ¥a®T odl 8. dl d IUd Tal oid | T 3HHS Tl ®I guRl & g0 DI
Yo SfYs Sl618 ol © | d U8 fhel = )R 5Hm|ﬁﬁm§®gdcﬂld&|ﬁdﬂw eTeR &l g8 od
© | 99 -0 93 B1d O1d 5. 4 GuRl & oGl &l 31 Uig Tod & SIRSAR IR R APd § | HT S
frzid & fawma & gru-ary o= U Sifie § sifte 05 ud § o 39 @il 31 H1a=Tg 3R 3Fva Srert
B Id § 3R 3afiT 37 i faaR a1 eI 81 9%d § | 39 96 & TY-T1Y Y- eI G &l
& H 3Ty 81aT € 3R au¥e! & g% &l faepd uipd 61 odl © | U8 I03 U o g2k 5 i
© IR T B3 5. TeanT IR A AT B 9¢1al &, Jaide Uch, 55 o JHUH S, JHErd:
YDHRIETS HHIoIP HIBR D a¢ldl o 1 Hew@qUl gldl 6 | Ui 593 39+ HuIiad] & W1y §aiaeR

P § 3R GAER TUR UGS 47 HaeRId &N &1 [ 781 6, dl SB[ a4 1 e 9 58
DIFRT 7GR 81 Gobll © |

Understanding how others feel is important in

A. Developing empathy

B. Reducing prejudice

C. Conflict resolution

D. Encouraging Selfishness
E. Enhancing cooperation

Choose the most appropriate answer from the options given below:

LA, B.Cand D Only
2. A, B, Cand E Only
3.B.C.D and E Only
4.A.B.D and E Only

(1)1

@) 2

(3) 3

(4) 4
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3) 3
(4) 4
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Read the following passage and answer the question given below :

Around the age of 2, children have a sense of intention, at least of their own intentions. They will announce, "I
wanna peanut butter sandwich". Az children develop a theory of mind, they also can understand that other
people have intentions of their own. Older pre-schoolers who get along well with their peers can separate
intentional from unintentional actions and react accordingly. For example, they will not get angry when
another child accidentally knocks over their block tower. But aggressive children have more trouble assessing
intention. They are likely to attack anyone who topples their tower, even accidently. As children mature, they
are more able to assess and consider the intentions of others.

With a developing theory of mind, children are increasingly able to understand that other people have different
feelings and experiences and therefore may have a different viewpoint or perspective. This perspective-taking
ability develops over time until it is quite sophisticated in adults. Being able to understand how others might
think and feel is important in fostering cooperation and moral development, reducing prejudice, resolving
conflicts, and encouraging positive social behaviours in general. Some coaching in perspective taking from the
teacher might help if children mistreat peers and the mistreatment is not part of a deeper emotional or
behavioural disorder.
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Older pre-schoolers have better chances of getting along well with their peers as compared to
young pre-schoolers.

Reason R : Older pre-schoolers generally have a better understanding of the intentions of others.
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R 15 NOT the correct explanation of A.
3. A is correct but R is not correct.

4. A iz not correct but R is correct.

11
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question given below :

Around the age of 2, children have a sense of intention, at least of their own intentions. They will announce, "I
wanna peanut butter sandwich". Az children develop a theory of mind, they also can understand that other
people have intentions of their own. Older pre-schoolers who get along well with their peers can separate
intentional from unintentional actions and react accordingly. For example, they will not get angry when
another child accidentally knocks over their block tower. But aggressive children have more trouble assessing
intention. They are likely to attack anyone who topples their tower, even accidently. As children mature, they
are more able to assess and consider the intentions of others.

With a developing theory of mind, children are increasingly able to understand that other people have different
feelings and experiences and therefore may have a different viewpoint or perspective. This perspective-taking
ability develops over time until it is quite sophisticated in adults. Being able to understand how others might
think and feel is important in fostering cooperation and moral development, reducing prejudice. resolving
conflicts, and encouraging positive social behaviours in general. Some coaching in perspective taking from the
teacher might help if children mistreat peers and the mistreatment is not part of a deeper emotional or
behavioural disorder.
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Given below are two statements :

Statement [ : A 2 years old child is likely to have a better understanding of his own intentions than those of
others.

Statement IT : It is always helpful to coach a child in perspective-taking if the child has the habit of mistreating
others because of some behavioural disorder.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement II 1s incorrect.
4. Statement I is incorrect but Statement II 1s correct.

1) 1
(2) 2
(3) 3
(4) 4
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“When nature prompted and no law denied
Promiscuous use of concubine and bride;

Then Israel’s monarch after Heaven’s own heart,
His vigorous warmth did variously impart

To wives and slaves.”

From which poem are these lines taken?

1. Absalom and Achitophel: A Poem
2. MacFlecknoe
3. A Song for St. Cecilia’s Day
4. Alexander’s Feast
1) 1
(2) 2
3) 3
4) 4
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